Name:  _____________________________ (please print)

Signature: __________________________

ECE 3455

Quiz #1

 January 29, 2002

1.  This quiz is open book, open notes.

2.  Show all work necessary to complete the problem on these pages.  If you go on to another page, indicate clearly where your work can be found.  A solution without the work shown will receive no credit.

3.  Show all units in expressions and figures.

4.  You will have 30 minutes to work on this quiz.

________________/50

This quiz was given in two versions.  Both are presented here.  Each student took only one of the quizzes.

[image: image1.png]The circuit model below represents a BJT amplifier. Find an expression for the
voltage gain v,/v; and the current gain i/i;. Express your answers in terms of the
various resistances, and p. (Hint: You might want to simplify the algebra by
defining an “effective” load resistance Ry’ given by the parallel combination of Rc

and RL.)
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[image: image2.png]The circuit model below represents a BJT amplifier. Find an expression for the
voltage gain v,/v; and the current gain i,/i;. Express your answers in terms of the
various resistances, and B. (Hint: You might want to simplify the algebra by
defining an “effective” load resistance R,’ given by the parallel combination of Rg
and R.)




[image: image3.png]The circuit model below represents a BJT amplifier. Find an expression for the
voltage gain vo/v; and the current gain is/i;. Express your answers in terms of the
various resistances, and p. (Hint: You might want to simplify the algebra by
defining an “effective” load resistance Ry’ given by the parallel combination of R¢

and R;.)
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[image: image4.png]Room for Extra Work
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[image: image5.png]The circuit model below represents a BJT amplifier. Find an expression for the
voltage gain v,/v, and the current gain i/, Express your answers in terms of the
various resistances, and 8. (Hint: You might want to simplify the algebra by

defining an “effective” load resistance Ry’ given by the parallel combination of Rg
and Rl,)
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